Congruence Of Triangles

Practice set 13.1
Q. 1. In each pair of triangles in the following figures, parts bearing identical
marks are congruent. State the test and correspondence of vertices by which
triangles in each pairs are congruent.
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« Side XW = Side YW (Given)

v LXWZ =£YWZ (Given)
~+ Side WZ is common between two As. (Given)

=~ By the property of SAS, it is proved that AXWZ=AYWZ

(ii) In the triangles of 2KkJ1 & AL,
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~+ Side Kl = Side LI (Given Hypotenuse)
- Side 1J is same in both the triangles.

=~ By the property of Hypotenuse Side Test, it is proved that AKJI=ALJI.

(iii) In the triangles of AHEG & AFGE,
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+ Side HG = Side FE (Given)
~+ Side HE = Side FG (Given)
~+ Side EG is common between two As. (Given)

=~ By the property of SSS, it is proved that AHEG=AFGE.

(iv) In the triangles of Asmva & ﬂOPT,

w LMSA=£POT (Given)

~» Side SM = Side OP (Given)



w LAMS=2TPO (Given)

~ By the property of ASA, it is proved that ASMA=AOPT.

(v) In the triangles of AMTN & &STN,

« LMNT=4SNT (Given)
- Side TN is common between two As. (Given)
« £MTN=4£STN (Given)

~ By the property of ASA, it is proved that AMTN=ASTN.

Practice set 13.2

Q. 1. In each pair of triangles given below, parts shown by identical marks are
congruent. State the test and the one to one correspondence of vertices by which
triangles in each pair are congruent and remaining congruent parts.
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Answer : (i) In the triangles of AMST & E‘TBM,



« Side MT = Side TM (Given Hypotenuse is common between two As)
 Side MS = Side TM

=~ By the property of Hypotenuse Side Test, it is proved that AMST=ATBM.

~ The observations are as
Side ST = Side BM

£MST =2TBM

MST TBM

£SMT =«BTM

£STM =£BMT.

(i) In the triangles of ﬂPRQ & E‘TRS,
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 Side PR = Side TR (Given)

+w £LPRQ=4TRS (Given vertically opposite angles)
« Side SR = Side TR (Given)

=~ By the property of SAS, it is proved that APRQ = ATRS.

“* The observations are as



Side PQ =Side TS
QPR = £RTS

£RQP =£RST

(iii) In the triangles of ApcH & ﬂDCF,

» £DCH=4£DCF (Given)

 £DHC=4£DFC (Given)

+ Side DC is common between two As. (Given)

=~ By the property of AAS, it is proved that ADCH=ADCEF.

~ The observations are as

Side HC = Side FC

Side DH = Side DF

2CDH = 2£CDF.

Q. 2. In the adjacent figure, segment AD = Segment EC. Which additional

information is needed to show that AABD and AEBC will be congruent by A-A-S
test?
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Answer : In the triangles of AABD & AEBC,



2ABD = £EBC [Vertically opposite angles]
+ Side AD = Side EC (Given)

=~ In order to show the congruence between two As AABD & AEBC by the property
of AAS, some information has to be required:-

Either AD ||[EC or BAD = 2BEC or «zBDA = zBCE

Hence proved.



